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kg mg-TEQ
( (
1 1 0 1 0 0 1 1 0 1 0 1 0 0 1 590 0 590 591 1 2,100
4,47 -
1- -2,3-
30 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 11,000
40 18 18 0 0 0 18 2 0 2 1,569 0 0 0 1,569 2,400 0 2,400 3,969 18 465,500
43 4 1 1 0 0 2 4 1 5 3 3 0 0 6 4,828 52 4,880 4,886 4 7,900
45 1 1 1 0 0 2 1 0 1 19 9 0 0 28 930 0 930 958 1 2,200
63 19 18 0 0 0 18 2 0 2 1,781 0 0 0 1,781 3,200 0 3,200 4,981 19 1,914,000
159 1 1 1 0 0 2 1 0 1 0 0 0 0 1 27 0 27 28 1 1,800
172|N,N- 1 1 1 0 0 2 1 0 1 11 7 0 0 18 73 0 73 91 1 1,400
179 2 2 0 0 0 2 1 0 1 1 0 0 0 1 0 0 0 1 0 0
200 1 1 0 0 0 1 1 0 1 200 0 0 0 200 2,000 0 2,000 2,200 1 3,900
206 1 0 0 0 0 0 1 0 1 0 0 0 0 0 47,000 0 47,000 47,000 1 77,000
224/1,3,5- 13 12 0 0 0 12 0 0 0 2 0 0 0 2 0 0 0 2 13 58,900
227 20 19 0 0 0 19 3 0 3 23,469 0 0 0 23,469 5,350 0 5,350 28,819 20 3,580,400
230 1 1 0 0 0 1 1 0 1 17 0 0 0 17 45 0 45 62 1 1,500
259 1 1 0 0 0 1 1 0 1 0 0 0 0 0 0 0 0 1 1 6,600
269 -n- 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1,000
283 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 1 1,000
297 1 1 0 0 0 1 1 0 1 2 0 0 0 2 4 0 4 6 1 20,000
299 15 15 0 0 0 15 0 0 0 184 0 0 0 184 0 0 0 184 15 181,400
304 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1,600 0 1,600 1,600 1 12,000
):
12 15
307 2 1 0 0 0 1 2 1 3 0 0 0 0 0 134 100 234 234 2 10,500
( )=
309 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 1,900 1,900 1,900 1 1,900
310 1 1 0 0 0 1 1 0 1 2 0 0 0 2 1 0 1 3 1 8,200
311 1 0 1 0 0 1 1 0 1 0 0 0 0 0 2,500 0 2,500 2,500 1 2,500
320 1 0 0 0 0 0 1 0 1 0 0 0 0 0 40,000 0 40,000 40,000 1 170,000
_1'3_ =
m_
338 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 30,000
111 9 6 0 0| 100 28 3 31 27,260 21 0 0 27,281 110,682 2,052 112,734 140,014 109 6,572,700
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